@ —6ax - 2bx = —6x(a + 2b)
@ ax®>+ay=a(x+y)
® a(x+y)-b(x+y)=(x+y)—ab
((4)—4x2 +16y% = —4(x + 2y) (x - 2y)
® x(2a-b) +2y(2a—b) —z(2a—b) = (2a - b)(x - 2y) — z

B

® -2x(3a + b)

@ a(x* +y)

® (x+y)(a-b)

® (2a-b)(x+2y-2z)
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T o|AFA] 22 —3x—4 2} 2x2 - 11x + 12 9

® x-1 (@)x—4

@ 2x-3 ® 2x+3

¥ -3x-4=(x-4)(x+1)
2x2 = 11lx+ 12 = (2x - 3) (x — 4)




3. xo gt A2 + 7Tx+ B2 Q15T x+3,3x-2L ), A+ B
o] Zf& ohH?

® 3 @ 6 @0 @-3 © -

~&B ‘

Ax?+Tx+ B = (x+3)(3x-2)
Ax®> +Tx+B=3x>+7x-6
A=3, B=-6

L A+B=-3




4. 2 x o gk o]xFA oA A7} (x+1),(2x—5) € @, A - B 9]
e

Ax*-3x+B
> =
> EHE: A-B=7

~&B )

Ax?> -3x+B=(x+1)(2x-5)
Ax? -3x+B=2x>-3x-5
A=2, B=-5

L A-B=2-(-5)="7




5. (aV3-2)(V3+1)=bV3+7 L a+b o] 322

® 1 @ 2 @3 @« ® 5

~&B

(aV3-2) (V3+1) =3a-2+(a-2) V3
=bV3+7

3a—-2=17 La=3

a-2=5>b Lb=1

La+b=3+1=4
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a?-a-2(a-1°-a+1
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(@a-2)(a+1)

(a-1°%-a+1

a-a-2

(a-1){(a-1)*-1}
=a(a-1)(a-2)




7. FolAA 2 +ax-4=0,4x>+ax-b9 FE2I
o]

A% a, b AT a+b o g T

D 2 @ 4 ® 6 @ 8

B

¥ +ax-4=(x-1)(x+p)
=+ (p-1x-p

p=41

p—1l=a .. a=3

4x2 +3x-b = (x—1)(4x +q)

=4’ +(q-4)x—¢

-44+qg=3,q9g=7

—g=-b

Lb=T

~a+b=10




OJFFA 3x% +ax + b & YN (3x - 2)(x + 3) ©]
k. ol w, a - b ©] FE& Fotolet.

ol ok

3x%> +ax+b=(3x—-2)(x+3)
3x2 +ax+b=3x2+7x-6
La=T,b=-6

La—-b=13
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(x+7)(12x-1) = 12x*> +83x - 7




10. A=4x+2, B=6x2-5x—-4°|1

| oy

o & o

=ax+b 2 YEFo] A o ab

B 6x2 —b5x—4
A~ 4x+2
(2x+1)(3x—4)
4x + 2
(2x+1)(3x—4)
2(2x + 1)

_ 3x-—4

=ax+b




